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The farmac r0adthruogh Bewa town has
bends becauseit _

A. CI0SSES several rivers.

B. PaSSESthrough a stecp area.
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questions [0 7.
1.  The highest part of Lazo arca is generally in
the

A_eastemregion  B. western region
C. southern region  D. central region
2. The railway line in Lazo ares is likely used to | 5,

transport .

A. beef animais B. tourists

C.tea D. timber
3.  Trees have been planted in some parts of Lazo

arca mainly to
attract rainfall in the arca. 6.
provide protection to tea plants.
protect sources of rivers.
provide homes for wild animals.
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Stav Safe -

Which one of the following activities is mot

A. Saw milling B. Tea packing
C. Meatcanning  D. Milk processing
Interaction of communities before the colonial

period led to

A. establishment of towns in the mterior.

B. exchange of traditionai customs.

C. introduction of exotic crops.

D. introduction of better means of transport.
The most current development in

communication systems m Africa is

A. opening of post offices.

B. introduction of the internet.

€. introduction of the radio.

D.imtroduction of newspapets.

Below are facts about a2 climatic zone:

£ st‘fmdonm ﬁgﬂtkewm
#i) Rairfall is between and 7560mm
i7i) Rainfall is experienced in winter.

The chmatic zone described 2bove is

A. mediterranean climate

B. equitorzzl climate

C. savannah climaze

D. semi-deseri climate

Which one of the following countries in Affica
is correctiy matched with its capital city?

Conntry Capitai city
A. Zambia Masgeru
B. Senegal Lusakz
C. Congo Brazayille
D. Lesotho Dakar

Mamizge is mportant in the society becanse
A. 1t is a source of wealth
B. married people are respected.
C. dowry is paid.
D. it provides companionship.
The Akosombo dar in Ghana bas promoted
development in the country mainly by
A. supplying power for industrial
develo
B attracting tourists to the country.
C. modifying the climate of the country.
D. stopping ﬂoodmg along river Voita.
Use the map
questions (410 17

Waslh vour hiands and wear a mask!
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Thm!neconomicacﬁvitymﬁedomintbe

shaded area marked E is
A fishing B. pastoralism
C. mining D. imigation farming

The dry conditions of the shaded area marked
P are infinenced by
A. Westerlies winds
B. Guinea currents
C.Agmlascmems

currents
Tbemmaalmmedaxﬁxcplwcmnked'l’xs
A. petroleum B. soda ash
C. copper D. gold
The arca marked vvy is sparsely populated
because
A. land is steep and hiily.
B. there are no natural resources.
C. it expetiences little minfail.
D. the area has swampy marshes.
The Hehe people responded to German
colonial rule in Tanganyika by

Which one of the following plateaus is
corrwﬂymalch:dwnhtbcommn'yit

A.Bie

B. Jebel Abbyad
C.Jos Guinea

D. Fouta Djalon Angola
The main tourist aftraction feature in
Zimbabwe is

A. Rift valley

B: snow-capped mountains

C. coastal beaches

D. wildiife

The institution of marriage is important
because

A. important ceremonies are conducted.

B. special foods are prepared.

C. it ensures the continuity of a community.
D). dowry is paid.

The Abawanga people reacted to Brtish
colonial rule by :
A. welcoming the British to their land.
B. attacking the British colonial posts.

C. signing peace treaties with the British-
D. refusing to trade with the Brtish.

Lake Tana in Ethiopia was formed

A. when a river changed its course.

B. by flowing magma biocked a river.

C. when water coliected In 2 crater.

D. when & dam was built across a river.
Which climatic zone in Aftica has cool dry
winters and hot wet summers?

A. Savannzh climate

B. Equitorial climate

C. Mediterranean climate

P. Mountain climate
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25.

29

30.

31.

32.

The Fulani people ary able ¢ graze over larpge
arcas 1n West Africa because

A. they keep large herds of amimals.

B they bive in 2 1se ts5¢ fly free areza.

C. they depend on livestock ifor food

D. the area they live is sparseh populiated.
The neighbouring community contributes to
the development af' a school by

A. providing funds 10 school.

B. paying teachers in 2 school.

C. donating or selling land 1o 2 school.

D. providing textbooks to a school.

The main problem facing forestry inthe
Democratic Republic of Congo (DRC) is

A frequent droughts in the country.

B, extensive ielling of trees,
C. attacks on trees by pests.
D frequcm ﬁrcs in the forcsts.

Which one of the following statements is
correct about the winds shown in the
diagram? They

A blow over dry areas.

B. cause cool conditions on the land.

. are hot and dry.

D. are warm and Contain moisture.

Which one of the following towns in Eastern
Alfrica experiences the type of raintall shown
above?

A. Kisumu B. Arusha

C. Dodoma D. Addis Ababa

Which one of the following communities
migrated and settled in Southemn Africa before

the 19™ century?
A Issa B. Avambo
C. Soninke D. T

Which one of the following dutics was done
by Mtwale in traditional Nvamwez
chiefdoms?

A. Collectingtaxes  B. Soiving disputes

C. Leading the army D. Sending information.
The niver Tana projects in Kenya have
promoted development in the country by

A. providing power to industnies.

B. stopping fiooding along the nivers.

C. attracting tourists to the country.

D. providing important waterway.

34.

37.

38.

39.

41.

42.

43.

Clan eldérs promoie peace smong clan

members by

A, wrinng laws torihe clan.

B. solving cases among ¢lan members.

C. ieading pecpis 10 war.

D. making weapons {or the clen.

What will be the tme i Conakry 10°W when

the time in Goma 20°F is 4 00pm?

A.6.002m B 2 00.am

C. 6.00 pm D. 2.00 pm

During the panition of Eastern Africa,

Rwanda and Burund: were given 1o

A. Germany B, {taly

C. France D. Belgium

The interaction of the Luo and the Abagusii

dunng the migration period led to

A. establishment of towns

B. exchange of names

C. scarcity of wade goods

D. establishment of 2 new language

Cocoa 1s grown in the coasts® iowiands of

West Africa because

A. the area has cool highland conditions

B. there is high demand for cocoa.

C. of the hot humid conditions in the area.

D). the area has fertile volcanic soils.

The main function of the African chiefs m

Tanganyika duting the German colomsal period

was to

A. collect 1axes B. appoint governors

C_ build schools D. make co| laws

Kenyan citizens demonstrate patriotism ' to

their country when they

A. make laws for the country-

B. form political parties.

€. work hard on their farms.

D. attend national day celebrations.

Trawiing method <f fishing 15 used to catch

fish in

A fast flowing nvers

B. shallow lakes

C. the deep parts of the'sea

D. fish ponds

Which one of the following areas in Africa has

attracted Iargc population due to mining
activities?

A. Ethiopian hx S:

B. The rand region in South Africa.

C. The lake Victoria basm.

D.Coastal lowlands in Tanzama.

Which one of the following is not a problem

facing beef farming in both Kenya and

Tanzania?

A_Flooding in grazing areas.

B. L.ong distances 1o markets.

C. Scarcity of grass during the dry season.

D_ Attacks by pests.

The Nile valley in Egypt is densely populated

mainly duc o

A. cool mghland conditions in the area.

B. availability of good roads.

C. availability of water for imgation.

D). high ramfall in the area.
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Which one of the following towns started due
to Arab trading activities?

A.Kampala B. Kisumu

C. Arusha D. Dar es salaam
Which one of the following rivers has an
inland drainage system?

A. River Nzoia B. River Ruvuma

€. River Rufiji D. River Athi

‘The role of 2 head teacher in school
administration 1s 10

A. provide funds to a school.

B. employ teachers in 2 school.

C. provide a school with textbooks.

D. supervise daily activities in a school.
The Hehe uprising against German rule in
Tan was led by

A. Kambona

B. Chief Mkwawa

C. Kinjeketile Ngwale

D. Julivs Nyerere

Emperor Haile Selassie was the last emperor

of
A. Sudan B. Zimbabwe
C. Ethiopia D. Uganda
Pyrethrum in Kenys is grown in
A. Molo in Nakuru
B. Mwatate in Taita Taveta
C. Timau in Meru
D. Vipingo in Kilifi
A problem caused by mining on the
environment is that
A. there is destruction of roads.
B. open pits are z hezlth hazard.
g.pcoplcarcdxsp!aced.

trees are planted in mining aress.
The main product of the planted forests of

Swaziland is

A. pulp B. firewood

C. fruits . medicine

The main reason for migration of Bantu
communities from the Shungwaya region was
A in the area,

B. scarcaty of pasture.

C. overpopulation in the area.

D. attacks by hostile communities.
Natural vegetation in the coastal parts of
South West Africa consist of

A. tail evergreen forests

S

D. dense forests

The political party that was formed by Julius
Nyerere in 1954 was

AT African Association

B. United Tanganyika Party

C. Chama Cha Mapinduzi

D. Tanganyika African National Union
Industries pollute the air when they

A. produce poor quality goods.

B. release smoke mto the atmosphere.
C. dump waste in rivers.

D. attract informal settlements.

ey Cafe ok vorer Borde meved sovrre oo posveld

61.

67.

Which one lowing COwusneane
grossed by the N

. Ghana B. Nigeria
C. Tenzania D. Congo
Which one of the following electoral
processes takes place at a polling stat
election day3¥ the fel unties IS
A. Counting o Orod?

R 21 years 110N ON AN

.18 years
ai th juciciary

afer

D a.llocaxcﬁmdswcozmnw.
33 electedto

inKeayA

: [IGIOUS EDUCATION
When God created Adam, He gave him the

ing trees in the garden of Eden.
B. building places of worship.
C. making clothes from leaves. ,
D. naming ail the animals.
Who was the son of Noah?
A. Seth * B.Sbem
C.Lot D. Lamech
The reason that made Abrabam go to live in
Egypt was that
A_ there was famine in Canaan
B. he wanted to obey God.
C. he was escaping attacks.
D. God wanted to destroy Sodom.
Joseph worked as a slave In the house of

assembly

A_ Jethro B. Potiphar
C.EhR D. Penuel

God 1o the Israelites on mount Sinai
in the form of a

A. rambow B. strong wind
€. thick cloud D. flaming torch
The mother of Samuel was

A, Dehorah B. Peninnzh

C. Naomi D. Hannah

7 he first king of Israel was the son of
A. Kish B. Jesse

C.Eh D. Joash

From the story of David killing Goliath,
Christians leam 1o

A. forgive their enemies

B. trust in God’s power

C. repent their sins

D. pray for the needy
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